
STEP Project Year 2014 Paper 3

2014.3 Question 2

1. Since u = coshx, cosh 2x = 2 cosh2 x− 1 = 2u2 − 1, and sinhx dx = dcoshx = du. Hence,∫
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as desired.

2. Let u = sinhx, cosh 2x = 1 + 2 sinh2 x = 1 + 2u2, and coshx dx = d sinhx = du. Hence,∫
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Let u = ex, du = dex = ex dx, and therefore∫ 1
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as desired.
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